


Question 1- A number first 

increased by 10% and further 

increased by 20%. Find total 

percent increase in original 

number?

प्रश्न 1- एक संख्या में पहले 10% की 

वृद्धि हुई और बाद में 20% की वृद्धि हुई। 

मूल संख्या में कुल प्रद्धिशि वृद्धि ज्ञाि 

कीद्धिये?

(a) 30%

(b) 32%

(c) 16%

(d) 11%
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Question 2- The average weight of 10 person is 

increased by 3.5 kg when a person of weight 70 kg 

is replaced by a new person. Find the weight of new 

person?

प्रश्न 2- 10 व्यद्धि का औसि विन 3.5 ककलोग्राम बढ़ िािा ह ैिब 

70 ककलोग्राम विन वाले व्यद्धि को एक नए व्यद्धि द्वारा 

प्रद्धिस्थाद्धपि ककया िािा ह।ै नए व्यद्धि का विन ज्ञाि कीद्धिय?े
(a) 105 

KG

(b) 100 

KG

(c) 45 KG

(d) 80 KG
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Question 3- 75×75 + 20% of 1875 -
2

3
× 249 = ?

प्रश्न 3- 75×75 + 1875 का 20% -
2

3
× 

249 = ? (a) 5844

(b) 5854

(c) 5834

(d) 5824
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Question 4- 108×106  - 2×224 -

79×99= ?

(a) 3179

(b) 3177

(c) 3133

(d) 2179
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Question 5- When 0.26 written in fraction form 

then what is the sum of it numerator and 

denominator?

प्रश्न 5- िब 0.26 द्धिन्न रूप में द्धलखा िािा है िो इसके अंश 

और हर का योग क्या ह?ै

(a)53

(b)43

(c)33

(d)63
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Question 6- If  Q% of Q is 25 then find the 

value of Q.

प्रश्न 6- यकद Q का Q% 25 ह ैिो Q का मान ज्ञाि 

कीद्धिये।
(a)25

(b)50

(c)5

(d)500

https://t.me/mahendrasmissionuppet



Question 7- 4 men and 3 women spent Rs. 

120 on average of which men spent average 

Rs. 150. Find average money spent by 

women?

प्रश्न 7- 4 पुरुषों और 3 मद्धहलाओं ने औसिन 120 रुपये 

खर्च ककए, द्धिसमें से पुरुषों ने औसिन 150 रुपये खर्च 

ककए। मद्धहलाओं द्वारा खर्च की गई औसि राद्धश ज्ञाि 

कीद्धिय?े (a)Rs. 40

(b)Rs. 50

(c)Rs. 80

(d)Rs. 240
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Question 8- In the given table the production of a 

company in different years is given. Read the data 

carefully and answer the question

प्रश्न 8- दी गई िाद्धलका में ककसी कंपनी का द्धवद्धिन्न वषों में 

उत्पादन कदया गया ह।ै दी गयी िानकारी का ध्यानपूवचक अध्ययन 

कीद्धिये और प्रश्न का उत्तर दीद्धिये
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a) 220/3%

b) 320/3%

c) 20/3%

d) 25/3%

Question 8(i) Question 8(i)- Production of company in 2004 is 
what percent of production in 2006?
प्रश्न 8(i) - 2004 में कंपनी का उत्पादन 2006 के उत्पादन का ककतना

प्रकतशत है?
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(a)20%

(b)30%

(c)25%

(d)10%

Question 8(ii) Find the percent increase in the production 

from year 2005 to 2006.

प्रश्न 8(ii) वर्ष 2005 से 2006 तक उत्पादन में प्रकतशत वृद्धि ज्ञात

कीकिए।





Question 10-
5+5+5+5 ÷ 5

5+5+5+5÷5
= ?

(a)0.4

(b)0.5

(c)1

(d)0.25
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THANK YOU

धन्यवाद


